ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-5229\C - Drawings\TX-5227-5229.dwg

THERMARTRU

DOORS
Fiber-Classic. & Smooth-Star.

COMPOSITE EDGE
GLAZED FIBERGLASS DOUBLE DOOR

w/ BLINDS BETWEEN GLASS

INSWING /OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design

pressure rating shown in the design pressure chart, sheet 1 of this drawing.

Conditions not covered by this drawing are subject to further engineering analysis.

Fiber-Classic and Smooth-Star Door & Sidelite panels require the use of "J" part

numbers. These door panels must be stained or painted within six months of

installation.

LIFN

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Elevations

Horizontal & Vertical Cross Sections

Vertical Cross Sections

Frame Anchoring

Hardware Details

Lite Frame & Glazing Details

Bill of Materials & Components

SO{OOINON | O b GO IND [

¥ %y
Ty

74.5" MAX. O.A. FRAME WIDTH —-—]

g 2
£ <3
< 2 (@]
SE xS
28 10
= I
® o F
DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
CONFIGURATION INSWING OUTSWING
POSITIVE NEGATIVE POSITIVE NEGATIVE
XX +40.0 -45.0 +45.0 -45.0

1)
R
£3 0
he
£ 2 w 5B
Ex a k]
o, ) Z v
N [S 1] (DT
P Z Z
o N i
-&?_’ L
5 E o X
3 8a 2%
t- Fim 90
13 =T
2 H B0 0Nk
A>mw }(Qé
Zgwn &b
3 ] )
) ON = gm
o [i4
© Xz
e B%p 98
g 25k ¢
@ 50¢ 5,_“_
r Moo 35
m =
s D ,E
8 g’u‘:
E 5
3 -
O
o
wn
L
=
0
o o
(o] <L
20 2
xao P4
= S=Z
%) . =L
<0 | h <©
=3 |18 o
CK(D = 4"3
o |@ wn
l’-—m 0N 4“-’
= < X
2l e 83
S o &£»
[ - tLLJ
o F X
x < Q.
o a
>_.
m
1]
=z
|
n
ol
0
L
<
[a]
o
=z
oatE: 7/21/21
scale:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—5229

sHEeT 1 oF 9

© 2021 R.W. BUILDING CONSULTANTS ING.



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-5229)\C - Drawings\TX-5227-5229.dwg

3.6" AN ui
EXTERIOR =Ty 0.5" —— Ly, ®q
[:‘3 | e Ay 4 £% 0
| | B 1 *e, ¢ % e} 0 & s
- '(.’. .‘.o _c‘_ o
E/ \3 H B $§ 3 '.(D‘ .".‘:4- A - E‘}-
2 ".w".c’ Ne | g L
BRI + A c py
AR COMPOSITE 15 : §§ %33 23
D) = tn 88
HII\\IGE STILE - D INTERIOR D - \ CAP NI R 37 339 8%
(COMPOSITE/ LOCKSTLE TOP RAIL TOP RAIL g ¥ e o6 bb
et . EO
ENGINEERED WOOD) /"1 "\ HORIZONTAL CROSS SECTION (ENGINEERED WOOD) (COMP./ENG. WOOD) (COMP./ENG. WOOD) ™ & o%s o
\2/ B Zad, oy
4 256 2
- 0.4" 36" - P ORoE %R
™ o i~y e g 0.4" —= r* ] s X Pk
‘ VT SR | l c : g @ %%
i 5 = NS g ;'h X o
¢ o I8lE T S OMPOSTE FOAMCORE | = =~ FOAMCORE ||~
el INTERIOR BT \ CAP Bt e o 0
(COMPOSITE/ S e = <
ENGINEERED WOOD) /g\uomzomAL CROSS SECTION (ENGINEERED WOOD) N W 23 | &
_ 36'MAX.DOOR ___ __, 35813'MAX.DOOR ,__ __, 35813'MAX.DOOR o N S 53 |3 T
PANEL WIDTH PANEL WIDTH PANEL WIDTH )| (1 O 1 EE 19 x
o <€
5 & & o ] g
2 2 2 O ] | I
_ o <
o o
f-Q\\ | (wWiB &
INTERIOR ” EXTERIOR INTERIOR )‘ EXTERIOR
TR =i
i ! ! Q) D
/1N _ g2 _ 8N - CHE=I C ] 0
I 3 YA e SRR IRSRERR
- \2/ g \2/ g \2/ I 1 2
< < < ERE T %]
X n 2 n 2 o g U I/ Y %
S e—.i 2 @_i ] B T A
o . v © FIBERGLASS SKIN N FIBERGLASS SKIN Y
3 o1 32 o1 = © LA AT
¢ & S
x o x z . e
< % 5
7 / / S = e
/ Va 4 1 S
/ / 7/ ] ; z
BOTIOM RAIL—|[* ! BOTIOM RAL—" [ oA 7/21/21
(COMP.) =4 (COMP.) b : SAE N.T.S.
D D D e ].7" i | et ——— ].7" — DWG. BY: RW
40 FIBERGLASS DOOR PANEL 47 FIBERGLASS DOOR PANEL 42\ FIBERGLASS DOOR PANEL e LFS
BOOK DOOR - COMPOSITE EDGE HYBRID DOOR - COMPOSITE EDGE U1 DOOR - COMPOSITE EDGE DRAWING NO.:
" /3 \ VERTICAL CROSS SECTION ~ /_4 "\ VERTICAL CROSS SECTION :
FIBERGLASS SKIN: 0.082" MIN. THK. > 5 TX—5229
FOAM CORE: POLYURETHANE -1.9 PCF MIN. \2/ \2/ P

© zoz1 rR.w. BuiLoing CONSULTANTS INC.




TON| SINVLAINSNGD aNtatiing 'm'd L 202

2S8LL—d # NOUVAHISIOFY J0 3LvOLdUN3D g SNOISIAZY =TV TON
SHIINIONI IVNOISSII0¥d 40 QuVOE SVX3L SNOLLYAT T3 m vl mm % 9_
LBLE'BS9'CLY "ON 8uoyd : i "
GBSES "I4 OSUIDA 0¢Z xo8 ‘O°'d \K\h@ ‘ATEWISSY H0 Livd N M ~ P :2u S
"ONI ‘SINVLINSNOO ONIaINg NP 3_

4000 SSYi943dld ~NLELE e o

CZLFOL# “T'd SvxaL NAL—-YNH3HL g S| W &
“Id IPILIYDOG 4 uopukl] g pesodald sjuawinsog 400a0Nd M an w 5 %

p—

2

e

@ o

o o

[Tra Y]

v

il i

[

ZZ

~2|88

i

21 .8

@B nlen

HIEE

M Ol 0
&
o

ua

G| ¢ | &

< | S| £

5|85 2

2z %4

= ]

=

3
X
SEE HARDWARE
CHART
//
J/
/
b4
7 1 i 2
\8/\5

BMp'6zes-Lzes-X\sBumelq - D\6225-¥22s XL squier dwoD dw| 94 988 0.8 1 8.9 -XXXX QI XXX - IAL\sU} Jo ydaq sexay - A\LNINYIANYId NIL BWIBy1\sIUalD\Z



SOV
SR S';Iil%
S x0T
& I e 7 ‘e’z',

H AN

Ly
FTEpt
: .9"."'5%:':4
f’ﬁg
..-{'\“{1 SCHM\
nu""123
2

caneeney

CEN

VU

.

3
'Qg:‘ g
D
£

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

0.15" C-SINK i

813.659.9197

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC

Y gl LSORRE
! G Moo zo
] 1 _ g
0 , - 5
, EN o
EXT ‘ N

°D°°°°o°°0°°°9 X
oo0000

SHEATHING | - DRYWALL
INTERIOR 1

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

o
90,

0!
&3

o
aS0!
090!
20!

i
2052
925!
Documents Prepared By:

o
9
&3
o
o
o,

9
090!
0
0,
0
9
0

3
)
¢}
0,
0!

o,
£}
o
o
o
&3

o
9,
{2
&3
0
o

o
05
o
0 Y
o
o
o
o
X
(X
o
(X
3
o
o0
o
o
(X
o
o
o .
o I
00 . .
LX) -

ETELSeS

o0 202030000050800 0000000000000 a00000 000000 CHES
0200 6505a50505050805080005a205000203030 0!
...... 32020802020308020202086802030020800a2650 0! 03020505030,
6305200802650369030505050505005e503a3n3e g Rod0205000 0!
5808020000020865050305858 5080230305 0308030 09080902000!
9205035305030209680203055203050305050303050F PoSadssoS00!
650825080509500303630505a505030505020303 050! 05680352030,
69020808020802080308a8080 203080 005030503050F RoSaSa3050T0!
0086802626263026283000855050920 308030303050 F 2000808050505
0908020503090200020200050 0205030503050 030 62080565850!
2203090203030 F PoSoadaSado!
5a503030: 09050203000
580209050 F oSada8al080
2253030 08620308050!
090808020$ £o0030202030
8555050 03050505050
555 3090! 530308080 0!
e b5052363080 05620309032
B080803030503: 62020508050
686508056300 0! 80065050503

OO0

EXTERIOR 1

SHEATHING @ @@@ EXTERIOR INTERIOR

W
/"1 "\ HORIZONTAL CROSS SECTION /" 2"\ VERTICAL CROSS SECTION

THERMA--TRU
FIBERGLASS DOCR
CROSS SECTIONS

PART OR ASSEMBLY:
HORIZONTAL & VERTICAL

PRODUCT:

w Outswing shown {Inswing similar) w Outswing shown {Inswing similar)

BY

INTERIOR

REVISIONS

NOJ DATE

000

DATE: 7/21/21

EXTERIOR
T SCALE:  N.T.S.

7”3\ HORIZONTAL CROSS SECTION owe. & RW

W Outswing shown (Inswing similar) oK. B:  LFS

DRAWING NO.:
TX—-5229

SHEET 4 oF 9

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-5229\C - Drawings\TX-5227-5229.dwg

© 2021 RW. BUiLDING CONSULTANTS INC.



INTERIOR

(0a(a2)

SEENOTE 1

A\

EXTERIOR

Notes:

1. Sill tem #32 is attached to jambs w/ (3) #8 X 2-1/2" pth screws at each end.
Sill tem #33 is attached to jambs w/ (2} #8 X 2-1/2" pth screws at each end.
Sill ltem #34 is attached to jambs utilizing (2} #10 X 2* pph SMS at each end.

EXTERIOR A\ INTERIOR

OO0 D ®

SEENOTE 1

ST

g

WOOD
K ) wooD o

o CONCRETE

D) CONCRETE (2 VERTICAL CROSS SECTION
{1\ VERTICAL CROSS SECTION \(5_/ Outswing i
W Inswing Sill
\
EXTERIOR /x INTERIOR
9
34
SEENOTE1
K ) wooD
D ) CONCRETE

/"3 VERTICAL CROSS SECTION

W Outswing Sill

i
Y]
o
23 £ o
Es 2 u8
s¥  m  Ze
nuy Ymw  8Y
€@ £ . Bu
W RS
52 Loa 27
6 d
Tl 289 33
SF B EZ BE
2 538¢ v
h-n Eé
53% gb
3 amn 26
@ on: o
o o
o ng b
< L.
8 amo Oo
g 2.5 o
£ Rr& %
£ &8 5%
s =
8 §5
E 3]
3 =
o
o
x 192}
7
38 le)
24 [ e]
=0 Sy
Loy s ©8
<5 1428
D:S = Qui
%o ol =0
' n
L TYI X7, 1 I Y
m < >
- K e
(3]
8 o]
el &
o o
>_
m
)
pd
O
%]
o
(2
L
<€
[m)]
o
=z

oAaTE: 7/21/21

scale:  NT.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-56229

SHEET 5 oF 9

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX {D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-52290\C - Drawings\TX-5227-5229.dwg

© 2021 R.W. BUILDING CONSULTANTS ING.



CONG SINVLINSNGD ONIATHNE "M'd 1202 O

Ze8Li—d4 # NOUVMISIONN 40 ILVOLHILNIO B SNOISIAZA SV ToN
SHIINIONI TVNOISS30dd 40 QNVOH SWXIL ONINOHONY THYAL m alzle| o 9_
L616°6G9°CLE 'ON ouoUd - J1 b u
GBSEE "4 OOMIDA 0FZ Xog ‘O'd \Svg. *XTEW3SSY ¥0 Luvd S _m 5 Nls
“ONI ‘SINVLIINSNOD ONITING NEREL 6_

000 SSY12438l LB &g~

CZIPOLF “I'd SvxaL NYL-YNAIHL i m $|¥|2 &
‘I'd IPIUYOS "4 uopulky :Ag petpdeld sjuewnsog 119Na0Hd 2181813518 &

<
I
0
mJ
=
e
o0
b
M
o
E - .. a0
'H e | "tl A.&Ev ..@ X(E :m Qw
|1 | | | -
* | i M
[&] —
O ﬂNb o’
O O T [
— = 0 = Mm
. 2 (o) 2
= 5B (<Xe) 2 Ly
* - g8 -
- % |

W
[
l
l
l
!
l
|
|
|
|
l
[
[
l
!
|
|
l
l
l
[
XX

SEE DETAIL 2
(SHEET 7)

FRAME ANCHORING

4" (TYP)) ——I

HEAD & JAMBS
(TYP)

|
I

(TYP) ™

FRAME

Bmp'622S-L225-X1\sBumeld - S\(6225-v22s X1) sqwer dwod dwj 94 989 0.8 18 8.9 -XXXX QI XXX - 1AL\sul Jo 1daq sexa) - S\LNINVINUId NiL BULIBY\SIUSID\Z



CON| SLANVYLINSNGAOG ONIATINE "M'Y L 202 0
ZS8LL—4 # NOLVMISIORM 40 ILVOIALNIO SNOISIAZY i
SUIINIONT WYNOISSIA0Md 40 QuVOE SVXIL SIVIIA IHVMaNYH Ad 3ivd [ON 3 slzlo] o 9*
L616°6S9°CLE "ON ®uoyd : N2Eisl N
S658¢ "4 OSHIDA 0FZ Xod ‘O'd \SUM% "KIGW3SSY_d0 Lavd = S8
‘ONI‘SINVIINSNOD ONIGHNE W LE 7_
H00Q SSVI943dld AR a
£ZTLPOLE "3'd SVXIL NAL-YWYIHL i m ¢|y2 &
‘Id IPRUYDS 4 uopukd :Ag pedodaid sjuewinoog 110NA0Nd 358 W 515 5
/292y,
ey
SENNORTRL
e f&ﬁ..&&?wo.m N ¢
A R o ¢
g N
g guwvol. et
B e NOONALE 3
7 LQWHDE Do e & / &2
P awengmt A7 5 x..“u. Qis
Px s oS = = Wk
Yy ¥ e, o .I\\s(ls G
mmm &, ,w,wrxnc @ @ =0
W XT38 2 =
253 #Ow T
e A M
& N
WVT 40 ooa _,  SO00  _  €0oa M \/ 3
dOL WO ST L QlIgAH/ LN .ST oc7 QRIGAH/ LN ST /. / M o
E
WYr 40 4004 __|_ ¥00a __|__ ¥00a 7 &%ﬁ T Y&
dOLWOM¥ .TL'8 004,552 4008.5°5C N004.5'5T @ _ e__ _s £
=
BB "B 3 g
L] L] L3 _ E @
[T 0 . . 0 3 3 ] )
Z35 @
I
o=
[72)
5
02
< Wu o 5
E (] Q a 0
\ o
b
I . T . - T . ] ndla
17|
| (Eas 9 ] 5| o
£ c
WOl -G e (%) ..m
ﬁ..m._. Hv :wm.ow 1 —
s%s
m
®
[§E}
°o_ ~yeg 3
& m SR )
— m 2 D L
ke OB D
\ 3 9
N T £ >
® @ -
2 -
: / <
b =2 E 3
X A ® =ZE o
3 2 9 | it B2 e g a
5 o 9 ! o & Q
ale o = L~ mv 2 0O <L
=l += / Ly
i : IR OO
[ e | @ 5
({um]) Ql~ 8 o3
=P 23 G« |3 B 3
| \ © e N 2@ m
=S =& 29
2 S NEEL 3
3 lﬂ/ Qj-~ ;m o
® ®

Bmp 6z2s-/225-X1\sBumeiq - D\(622s-vees X1) squer dwod dwi 94 598 0.8 18 8.9 -XXXX QI XXX - 1GL\su] J0 1daq sexay - G\LNINVINYId NiL euusy\suald\'Z



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX {D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-52290\C - Drawings\TX-5227-5229.dwg

___2094'DLO.

4..
(TYP.)

WIDTH

79" D.L.O. HEIGHT

#10 X 2" PPH SMS

/ (TYP.)

10.6'0.C.
(TYP)

g

8"-0" LITE FRAME

ALUM. (6063-T5)

DOW 995 GLAZING
COMPOUND

NORSEAL CLOSED CELL
PVC FOAM

EXTERIOR

A\ Y

——1/2" GLASS BITE
— 1-1/4" O.A. THICK GLASS

1/8" ANNEALED GLASS
l/ 0.090" SAFLEX PVB INTERLAYER

Q T2 1/8" ANNEALED GLASS

T BLIND INSERT

INTERIOR
4A FOAM SPACER
w/ ALUM INSERT

#10X2"PPHSMS  NORSEAL CLOSED
CELL PVC FOAM

G1 GLAZING DETAIL

1-1/4" Insulated Laminated Glass
w/ Internal Blinds

T

r 1.75" »1

* ‘s AR SPACE
Ll 1/8" TEMPERED GLASS

@ ALUMINUM IMPACT LITE FRAME

54

'y

A}
*421%

Ve o b By By £

SOF TE

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
813.659.8197

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

9
[z —
~C
28 Wi
e 25
lo |5 o
=2 |3
93 13 53
=5 g )
., 2
6l = gl ¥
8 O
'—-
(o] [+ 4
& x
>..
m
18]
Z
)
o
oz
o
<€
0
o
pd
DATE: 7/21/21
SCAE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—-5229

SHEET 8 oF 9

© 2021 RW. Buioing ConsuLTanTs Inc.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-5229\C - Drawings\TX-5227-5229.dwg

BILL OF MATERIALS

ITEM # DESCRIPTION MATERIAL
A | 2XFRAMING (SG >= 0.42) WOOD
C | 1/4 MAX. SHIM SPACE -
D | 1/4" PEH DeWALT OR TW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
F_ | #10 X 2' PFH WOOD SCREW STEEL
K| #10 PFH WOOD SCREW (1-3/4" MIN. EMBEDMENT) STEEL
L | #10X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
P | 3/16" PFH TW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
1| COMPOSITE JAMB COMP
7 | WEATHERSTRIP FOAM
8 | DOOR SWEEP VINYL
9 | SWEEP (USE w/ PUBLIC ACCESS THRESHOLD) VINYL
10 | #10 X 1-1/2"PPH SMS STEEL
20 | #8 X 2-1/2" PFH WOOD SCREW STEEL
21 | #12X 1-1/2" PFH WOOD SCREW STEEL
22 | #8 X 3/4" PFH WOOD SCREW STEEL
23 | #9 X 3/4" PFH WOOD SCREW STEEL
24| #9 X 1" PFH WOOD SCREW STEEL
25 | #9 X 2-172" PFH WOOD SCREW STEEL
26 | #8 X 5/8" PFH WOOD SCREW STEEL
27| LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL

28A | DEADBOLT SUB-STRIKE PLATE STEEL
29 |4 X4 HINGE STEEL
32 |INSWING THRESHOLD ALUM/COMP
33| OUTSWING THRESHOLD ALUM/COMP
34 | PUBLIC ACCESS THRESHOLD ALUM
40 | DOOR PANEL (BOOK) -
41 | DOOR PANEL (HYBRID] -
42 | DOOR PANEL (U1) o
44 | COASTAL ASTRAGAL (THERMA-TRU) ALUM
78 | MULTIPOINT LOCK STRIKE PLATE @ HEAD STEEL
79 | MULTIPOINT LOCK STRIKE PLATE @ SILL STEEL
80 | COASTAL ASTRAGAL STRIKE PLATE STEEL

1.25"

0.75"

4.56" —fi

SAARAAN Y

212"

@ COMPOSITE JAMB

Lyndon F. Schmidt, P.E,
TEXAS P.E. #104123

813.659.9197

4.56"

32 INSWING THRESHOLD
Adijustable Composite Sill

o

33 OUTSWING THRESHOLD

Composite Sill

@ PUBLIC ACCESS THRESHOLD

- 191"

B U ——{~—0.0¢"
o
8
—! =03
@ COASTAL ASTRAGAL

Lf% s

}_—I«— 179" ——|
<
S . SWEEP

2,06 —“"]

< : >SWEEP

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required fo ensure the "MAX. ON CENIER" dimension are not exceeded.

BUILDING CONSULTANTS, INC.
P.0. Box 230 Vairico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

3.
W i i .
TAPCON® 1/4 1-1/4 2 4
DeWALT ) . . "
utRacons] 14 1-1/4 1 4
lTw W i3 1t
TAPCON® 3/14 1-1/4 AS SHOWN 1-1/2

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

o %]
S 22
20 &&=
sy L
Loy |51 58
=0 |35 £
=3 |8 T°=
Lo = %O
& (i CO
Fu |9
S R
5 5 g ®
= )
-
2 %
a. a.
>_
m
(%)
=z
)
0
ol
[
p
<
o
o
=z
oATE: 7/21/21
ScALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX-5229

SHEET 9 oF @

© 2021 R.W. BUILDING CONSULTANTS INC.



